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( Part-1  J3) mias)

12 Solve any SIX parts. LSS 2
Factorize: 12x* -36x +27 12x* -36x +27 :ZESF )
Factorize: 3xy +2y—-12x -8 3xy+2y—12x-8 :ZE§F (i1)
Factorize: 144a’ + 24a +1 1442’ +24a +1 :Z$F (i)
Factorize: 2x* —8x —42 2x*-8x-42 :Z$f (i)
Define remainder theorem. L ffhe

Fi b Kg(x) =8(x" —xy?) 4 p(x)=12(x"~y")

: i) R ;
Find the L.C.M. of p(x) =12(x" —y")and q(x) =8(x" —xy’) . y 2 (vi)
Find the H.C.F.: 102xy*z , 85x’yz , 187xyz’ 102xy’z , 85x’yz , 187xyz" :é(,b‘(yo,u (vii)
l:;e _lzll;;o:l(z)zunon to find the square root of the expression: $=19%49 :g{(r"’é/'aiydf-‘.’/% (viii)
Solve for x: [3x—5|=4 [x <§l=d :gEe,orFlan.  (iX)
12 Solve any SIX parts. LS &Sl 3
Define L.C.M. -Ev PSS e (i)
What is meant by square root of algebraic expressions? ?“-_,a/y‘;_&,'u;géw?d:{'l (ii)
Solve the equation: y2x—3-7=0 V2x=3-7=0 :E e (i)
::)l/t'c\/;%%q:guon and check for extraneous solution, if Grrd=2 :;{&JrgJJﬂéuw;{\fﬂ:uv (i)
Find the value of m and c of the given line by expressing it (i“"‘f‘-’u{c AmBLL L y=mx+c fanbadnds

in the formy=mx+c:x-2y=-2 x-2y=-2 i W
Find the value of m and c of the given line by expressing it ,’”‘"«f‘-’JC Am AL Sy =mx + ¢ fehladnd ;
in the formy=mx+c¢:3-2x+y=0 3-2x+y=0 g )
Define a radical equation. Sy Sl (viD)
Define extraneous roots. I (viid)
Define an inequality. L fena g (X)
12 Solve any SIX parts. LS &l A
Define an ordered pair. Give an example. el S in (i)
Define Cartesian plane. ATy T L S (1))
Define coordinate axes. S N eatS (i)
Define similar triangles. oy s (iv)
lnl_rianglc LMN_ shown in the l_'lgure. MN| PQ. If M =Scm Sc MNIFG LIMN o & & & o v)
mLM =5cm, mLP =2.5cmand mLQ = 2.3cm, then find g A s =

IR = AL mIN F mLQ = 2.3cm  mLP = 2.5¢m

Define the circumcentre. S SEHE )
Define orthocentre. EWPSFET S p8 (vid)
Define centroid. L fSap i)
Find the value of unknown x in the given figure: g dfx ,-Pl:‘;.)cf\j, (ix)
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NEW TRUST SCIENCE ACADEMY
BEST OF LUCK...!
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Part — 11, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Factorize: (x+2)(x +3)(x +4)(x +5)—-15 (X +2)(x+3)x +4)(x+5)-15 2587 ()
Factorize the given cubic polynomial by factor &k §# (& S GnE L yre w87 1 .
theorem: 2x” +x* —2x—1 -

2x* +x*-2x -1
Simplify as a rational expression:
x+3 1 4x

Xx+3 1 4x - + - 1A P ()
: + .. 2%% 4 22x-3) -9 =
2x°+9x+9  2(2x-3) 4x'—9 KRR N3 ee=3

Use factorization to find the square root: . )
5 0 7 4x°® -12x%y* +9y° 5 =
4x° —12x%y* +9y° XY #O0) i gE e B §F ik

) L(x,y#0) T 4%y +169°

"1 24xy? 416y y 9x" +24x7y" +16y
Solve for x: -;;|x—3]:—i-|x+2| —|\ 3= —[x+"| Sepor Flanle (L)
Solve the inequality: 3(2x +1) = 2(2x +5) <5(3x-2) 32x+1)-2(2x+5) <53x-2) :ZEFSanF (L)
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3 cm, 4cm and 7 cm are not the lengths of the < u=2-U! o e § st c-—_‘,lf‘v’ 7em Lo dem < 3em

. 2 " ()
triangle. Give the reason. Lol
Construct a triangle in which: Pl S ek el )
mZB=60", mAC=3.5cm , mBC=Scm mZB=60" , mAC =3.5cm , mBC = 5cm ’
Prove that parallelograms on equal bases and having Bt 2t SIS EHZ S0l N 229 Eo s 6 1S G ot
the same (or equal) altitude are equal in area. b
Prove that triangles on equal bases and of equal ’

- - A4 )
7 2 “Susala e Zams ) 20 FL .."'V ol S
altitudes are-equal in area. LurlaLmuniliinie kb < U OWD e
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D c B A Questions | witr | #7
I Pz 2_5x
X+2,x+3 X+6,x-1 x-2,x-3 X+1L,x-6 I ALNL X -5x+6 1
The factors of x* —5x +6 are:
£nd W 2 =3 9x* —6x+2 /i
65 88 66 67 If 9x* —6x+2 is divided by X—3 the remainder 2
will be:
B L0 2.2 7
Sxy 100x°y’ 20x’y? 5x7y? i - “y.'.l-bf..()x Y 1 5x7y? Ut 3
H.CF of 5x’y*and 20x’y’is:
3 3 2 2
a’—-b” a +ab+b”
- LB1g S
a+b a—b 1 I T ey |,
a’+b’ a’+b’ a-b a+b Simplify a’—b' a’+ab+b’
¥ at=bhd e T
R 4 4 2 2
_— & g 42 —p? a2 E ‘ -“T— Sidksikat —b' sa’ +b 5
L.CMof a’+b*and a* —b'is:
:;r:i‘f.L’ 1600 ssbiessli'c’ :lﬂlJLﬁ'ixd/J_{‘
¢>1600 ¢ <1600 21600 c<1600 If the capacity ‘c” of an elevator is at most 1600 | 6
pounds, then:
x—-2<0 x+2<0 3x+5<0 x>0 __LJ/,K.:,:JL—_-,I,L,-/{)(:O 7
x =01is a solution of the inequality:
e LOLUR(2,-3) &
v i i I , o B (2 B) |
Point (2,-3) lies in quadrant:
e stz(x,y)n(x -1y +1)=(0,0)/
(~1,-1) (11) (-11) (1,-1) Fade(zpuln-Ly+l)=(0.0)4 |
If (x—Ly+1)=(0,0), then (x,y)is:
= L"}.‘Jdl.i‘VJy\/----LL)’.-b’u-.grﬂg't/'_i‘td)/Lﬁ»’.{'ﬁ&f’é[
L1 B <1
Mid point £nd point Vertex Any point Any point on the right bisector of a line segment is
equidistant from its..... points.
4 3 2 1 B B L WS 1
How many mid points a line segment has?
. I 5, S, ~eb gy LE L Kl
(VAL / 4 < & Cam . (34 " - o 12
Radius Chords Diagonal Genter The — of circle is on the right bisectors of each
of its chords.
. . . L st L £ akns”
Jwr‘: Js Vel y7) ‘ “‘ % = 5 . o gt 13
Chnciiment Radius Chords Diagonal Irléc perpendicular bisectors of the sides of a triangle
4 .LJx)'.-ﬁv"nanw!J;'-/r_uy/Lki.nb."g("i.kﬁ_{'
-y 2 il fasf -l -:_txsl; 14
Median Perpendicular Right-bisector Bisector A point equidistant from the end points of a line-
segment is on its:
- f LRER ;‘ . s s r
5k NG Uil LU -0 M'. .AJ/‘M.MJY-'V U"_le»’né.",ln._f!)l
: 7 If two medians of a triangle are congruent then | 15
Acute Angled | Right Angled Equilateral Isosceles » :
the triangle will be:
BEST OF LUCK...!
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